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Continued analysis of '8 mwn — dispute between nTi’ "1 and n™
M "1 he may write a full 21 and then she writes a (fictive) receipt for a portion
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challenge: "1 doesn’t allow for writing a 121w (why should the debtor have to hold on to it)
answerl: when the 921w is written in to the n21n3, so that when she comes to collect, it'll be “hard-wired” in
answer2: in this case, she didn’t really get the money; if he loses the 121, that’s his bad judgement
1 difference:
(a) answer 1 (717 ") holds that " would never allow 721w
(b) answer 2 (aRr) —the text doesn’t state n311Ma nnYIW
challenge: why doesn’t 1 even allow an oral “receipt” for ¥2?
1 Explication: he allows a condition on financial components of PWVIT’P (MO IRWY)
2 Answer: those are n”nn, whereas N2 is 0”11 and pnIN gave their rulings more strength than Xn»7187
(a) Caveat: they didn’t do so vis-a-vis m1a n»58 which not every husband gets;
(b) Challenge: re: reciprocal testimony re: n"1In, they allow it against (0”1n) 'Rn7T
(c) Answers:
(i) »xn7is to cover doubt, they only acted in a 3277 'R ™
(ii) »xn7Tis a distant concern (most n”y take n™7n)

n" prohibits — less than 200/100 is a mar nYya
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reason: such a *Rin is nullified — so she really has the 200 — but she doesn’t know that so it’s nar n%ya
challenge: n™ holds that nmn2 232w n” ninn is null; (implying that) 132972 it’s valid
answer: n" maintains Xn”71IRT 12N

(addition from xXn»71): '0v "1 permits (a diminished n1m>) — even if the agreement was verbal only
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challenge: »ov " disallows designation of 15v%vn for N21n3 — even with n»INX — because they may depreciate
answer: in that case, she doesn’t know about the depreciation; here, she willingly accepts a lesser amount
case law: a lost N2 1M1 (ROIVRT N2IM); g0V "1 thought to rule like nnan (may live together sans n21n2); overruled,
since YM7°1a N3 139N
delimiting the dispute (between 77777 71 and oy “1about a verbal condition):
1 report #1: (01 ")
(a) 9" - they only disagreed at the “beginning”, at the “end”, all agree that her n%nn is null
(b) 1NV "1 —they disagreed at the “beginning” and the “end”
(c) 1nv "v’s clarification: no dispute
(i) Y"1 meant “beginning” of non and “end” of nx>a
(if) Imeant “beginning” of nk>a (::end of nam)
2 Report #2: (pan)
(a) 9" - they only disagreed at the “end”, at the “beginning”, all agree that her n%nn is valid
(b) 1nv "1 — dispute both at “beginning” and “end”
(c) 1Ny "v’s clarification: no dispute
(i) 9”271 meant “beginning” of non and “end” of namn
(ii) Imeant “beginning” of Nk>a (::end of nam)
3 Observation (r9a "): if it weren’t for 13y "7’s clarification, the preferred method would be to ascribe the
dispute to 13y "3 /5”27 as opposed to 131/71077 ":
4 Lesson: more likely that p'RmnR are disputing based on their own divergent reasoning, and not about what
earlier DRNR said/meant
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